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=. FlKrRR
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BT5 IBEBE
. SR

1.C 2.A 3.D 4B 5.C 6.A 7.C 8.A 9B 10.B
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—. SRR

1.BC 2.AB 3.CD 4.BD 5.ACD
6.ABD 7.BCD 8.BD 9.ABC 10.AC
11.CD 12.AC

=. FUiRR

1.x 2.% 3.x 4% 5.x 6N 7N 8.x  9.x 10.V

P, iHERR
1. XUENFERI EATUA

FHER=81370/ (1+3% ) =79000 (7T ) »
NZNEEERTER = 79 000x3% =2370 (7T ) .

2 . (D ERFERHIEIRGET = 80x17% +5.85+(1 + 17%) x 17% =14.45(J57T)

QEEZFRBIHETIRIEN = 29.25+(1 + 17%)*17% =4.25(J37T)
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(3) HHEFERITHEITEMAFIER = 1.04+(1 + 4%)x4%x50%x5 = 0.1(J5TT)
(4INEESAP PRI RIBEIER = 10.2 + 6x7% =10.62(J37T)
(5)INE G = R R I A TRER = (30%13% +5%7%)x(1 - 20%) = 3.4(J37T)
(1%l 5 BHRIETREIISERER = 14.45 +4.25 +0.1 - 10.62 - 3.4 =4.78(J57T)
3.(1)A®NE:

Ot EEEEINEEIER = 600x0.45x17% =459 ( 57T )

o ERRFEIRE = (9.36+2.34 )+ (1+17% ) x17% = 1.7 ( J37T)

o BARATIBRHTIALER = 30.6 +0.34 =30.94 ( /57T )

ORIANHE BT = 45.9+ 1.7 - 30.94=16.66 ( J5IT )

(2)BRA):

185



(DFHERMEEEIRRBIER = 180x17% = 30.6 ( 57T )
(ORYERT REITIER = 35.03+ (1 +13% ) x13% =403 ( /57T )

(DFHESERAREHIIRIER = 298.35+ (1+17% ) x17%=43.35 ( /57T
HIFENSTt =30.6 + 4.03 + 43.35=77.98 (B75)

(DWIEE AXGHIRER = 600x0.45%x17% = 45.9 ( 57T )

OMRF=EBITTET = ( 30x13% + 3x7% ) x60%~2.47 ( J37T )
RANRHEIRENSTT = 45.9 + 2.47=48.37 ( 57T)

(DR (ER = 77.98 - 48.37=29.61 ( 57T)
4.(1) 11 By :

(IR -
HMERARE, 8= 1445 (BTT)

ANEENF = 25.5% (1 - 20% ) =20.4 ( FIT)
TR =51+ 10x7%=5.8 ( FIT)

HELITHIZE = 18x7% =1.26 ( 57T )
BIRESTT = 144.5 + 204+ 5.8+ 1.26 = 171.96 ( 57T )
(ORHCERASRAEFHRIIRER = 500x (17% - 15% ) =10 (77T)
(DRZZFAER = 300x17% - (17196 - 10) = - 11096 ( 5TT)
OHOEH FHRER B = 500x15% = 75 ( 57T )
(ORBERER =75 (57T)

ERHE T BHEHOREER = 110.96 - 75=35.96 ( 5T )
(2) 12 By :
ORFBUEEMEHERN = (300+50) x (1+20% ) =420 (J57T)
ORARERASRAEAHR T BETERER = 420 (17% - 15% ) =84 (J57T)
O RIR BRI AMERAEFMKIORET = 600x (17% - 15% ) - 84=3.6 ( 57T)

(DNZZFRR = [140.4+ (1+17% ) + 1404+ ( 1+17% ) +600x200]x17% + 3.6 - 35.9
=[120 +40]x17% + 3.6 - 35.96 = - 5.16 ( J5IT )

(DGR EREHURER = 420x15% = 63 ( 5IT)
DO EHEHEERER = 600x15% - 63 =27 ( 57T )
(ORpEFER =5.16 ( AIT)

(DM ERGEHRER = 27 - 5.16=21.84 ( 57T )

h. =BT
(1) BB Y9EEREERAY
(2) $HE 500 &, F/FHY SWAVHEITHIANIR MHERT |
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(3) LAIBRFHASOIRI BERROBIEANGK

(4) REEESNETRDHNERTHE | NUEHEE .
(5) RIFTEHITERIZ R REREEERES
(6) IBMENARHE

(7)) IREFAHEL 09 FLIFHLAED ;

(8) ZRMNYAEERAITENT

LBEIT = (500 +200+ 100 +50 ) x0.9x17% =130.05 ( 57T )
WA= (10+0.5) x7% +200x17% + 18 =52.74 ( 57T )

4 B RIZRHE(ER = 130.05 - 52.74=77.31 ( F7T)
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B=F HEBE

-, EATERR

1.C 2D 3.C 4. 5.A 6.8 7.C 8.A 9.c  10C
118 12.B
=, BIUEER
1.ABC 2.ACD 3.ACD 4.ABCD 5.ABC
6.BD 7.AC 8.BCD 9.BD 10.BCD
=. FlirER

1x 24 3x 4V 5x 64  7x 8/ 9V 104

. itE=R

LEDEERE = 500x5 000x10% = 250 000 ( 7T )

2. (1) ZEINTHRLBRTTHMNTE = (60 000+3700) + (1 -30% ) =91 000 (7T )
(2) YRLLR9EZERLE = 91 000x30% = 27 300 ( T )
(3 ) BIEREFHUN =1 053 000+ (1+17% ) =900 000(7T)

(4) PHELIFAMETIEERD = 900 000x45% + 1 000x150 - 27 300 =527 700 ( IT)
3. (1) NERiEZERL = 10x220=2 200 ( JT )

RIZRHS{ERT = [10x1 000x ( 1+10% ) +2200] x17%=2 244 (JT)
(2) NANHEZER

MEAEIAYEZERT = 2 000x0.5 =1 000 ( 7T )

MANEUZESEERRR = 12x2 000x (1+10% ) + (1 -20% ) x20% =6 600 ( IT)
NZEERFTE = 1000 + 6600 = 76000 ( TG )

RIZHE(ERE = 12x2 000x (1+10% ) + (1 -20% ) x17%=5 610 ( 7T )
4. (1) BBER
OHME. DN TARELHITHER = 68 + 1.36 = 69.36 ( J37T )
(D NEXAMSHTIRRER = 42x13% + 3x7% = 5.67 ( 57T )
(DY ESBARBSTIRER = 36 000x17% =6 120 ( J37T )
(DREEEERL = 6 120 - 5.67 - 69.36 =6 044.97 ( 57T )
(2) H%Em
OIEINN TR RASEERR = [42x (1-13% ) +3x (1-7%) +8]+ (1-30% ) x30%
=20.28 ( A7)
(DHESIREZERET = 36 000x45% + 18 000x0.015 =16 470 ( 57T )
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ORI NE SRR LLRHEHTEZER = 150x2x30% = 90 ( /57T )
NIRRT = 20.28 + 16 470 - 90 = 16 400.28 ( 57T )

5.(1) NREZERL = (500x600 +500x650 ) x8% =50 000 ( IT )
NZRLE(ER = ( 500x600 + 500x650 ) x17% =106 250 ( 7T )

(2) ERLGTHUME = (500x600 +500x650 ) + (500 +500 ) =625 ( 7T )
i 2R = 625x100x8% = 5 000 ( 7T )

IR ERR = 625x100x17% = 10 625 ( 7T )
(3) RIkiEEERL = 650x200x8% = 10 400 ( 7T )
EZREE(ER = 625%x200x17% = 21 250 ( IT )
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f. E6IoH
1. (1) HEREENMMNHTEER =29.25+ (1+17% ) x5% =125 (BTT)

(2) “LAIB#E#T HE S TN ZERAYHEZRTL = 2 000x0.03+ ((1+17% ) x5%
=2.56 (/A7T)

(3) EHINTSREPN AT EZERL = (3042+4.68) + (1+17% ) + (1 -5% ) x5%
=31.58%5%=1.58 ( FIT)

(4) FIRETGHTERES MAERRIHESEER = 70.2+ (1+17% ) x5%=3 (J57T)

(5) Pl 5 BORNEERRIIEERT = [29.25+ (1+17% ) +2 000x0.03+ (1 +17% )
+31.58+70.2+ (1+17% ) 1x17% - 8.5

=20.04 ( 5JT)

SHUE FAHBE

-, BALIEIRE

I.LB 2C 3B 4D 5A 6.A 7.A 8.C 9.C 10B 11C
12.D

—. ZIUEER

1.ACD 2.AB 3.AC 4.ABD 5BC

6.AB 7.BCD 8.AB 9.AD 10.BD

=. ¥R

. &R
1 HRITHE RRAE I FE = (3 000 - 1200 - 1000 - 350 - 50 ) x30x5% = 600(7T) .

2. (18R AERTFEER = 8 000 - 2 000 - 1500 =4 500(J57T)
(IR A EIRE AV FFETR = 4 500x3% = 135(J37T)

Q)RHNEEIR AR EN BT = 2 000x3% = 60(J37T)
(AHRANHIRBLRENTZAFRTK = 1 500%3% = 45(57T)

3. (1) RAERATMRERWEIR = (16000 - 7000 ) x3% =270 ( 77T )
(2) BEFNATSRNHZERATRERUE N = 7000%3% =210 ( 57T )
(3) BHFFR A BEINARHEARNFZ T = 4000%5% =200 ( 57T )

(4) BFERLENHAPNHERN =TI =2 200x5% =110 (57T )
4. (1) IKENRYRHASRZE 40 000 7T, NASRER 10 000 JTHRAFF R
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RENEFEELENNE R =1 000%5% =50 (JT )
ERF EF RN VL = 500x5% =25 (JT )
FRAEIEUMI N RN E LAt = 28 000x5% = 1400 ( JT)
EINSEIN 60 000 TTRAFEF

)| FE A RIZE R = (120 000 + 8 000 ) x3% =3 840 ( 7T )
BRI BN EEE N FE =50 + 25+ 1400 +3 840=5 315 ( 7T )

(2) AFNAREEFET = 21 000%3% =630 ( 7T )

A LN BACAA SR B T 8EH 5 AT —E A
o ME TEEILEL, FHN:
https://d. book118. com/696115225211011002
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